SN DEYRY
HH: L0 LM(DR/DEDS)
el QTR A B (et &8
A -4 (3AH) - HRAY - BESF Ol &4 JEH HwsZ
DS 282,076,288 261,212, 166 20,864, 122
= 100,000 25,000 75,000
= 281,976,288 261,187, 166 20,789,122
SAATAH (DF/DERS) 18,660,780 18,736,812 AT76,032
AMFH B 18,660,780 18,736,812 AT76,032
TN 22 |4 1,712,780 1,788,812 AT76,032
101 Q121 4| 65,780 68,812 A3,032
VEEEES =TCPS 65,780 68,812 ~3,032
O BIHESHAS 2 65,780 68,812 £3,082
301 etBHZ 227,000 300,000 A73,000
02 B2 Y2 227,000 300,000 A73,000
ORXSHE =& et Xs X2 227,000 300,000 A 73,000
Dl L2RE(DE/SUNYZESDS) 261,378,298 240,696,329 20,681,969
AMSH  RFHAMH 725 261,378,298 240,696,329 20,681,969
DSIWY MDES S8 NSBZ MM 261,378,298 240,696,329 20,681,969
202 01| 3,000 7,500 A 4,500
01 2L 01 bl 3,000 7,500 A4,500
OWSXNAANY ZZ2E A2 &9 3,000 7,500 A 4,500
308 X+XI EHHI S 01 & 4,697,754 4,696,485 1,269
08 REIITOICHE R = 4,682,754 4,681,485 1,269
OF - 1D MUY D= X 2,642,754 2,641,485 1,269
703 DEHISEINTES 256,677,544 235,992,344 20,685,200
NEEEEE 256,677,544 235,992,344 20,685,200
ORSHSLIANFES(NLDSAH) 203,838,955 186,238,955 17,600,000
OLSUISLINNESZ (M) 46,520,023 43,434,823 3,085,200
TMSSHH PE(DS/BY - NADR) 1,300,324 1,205,324 75,000
=2 100,000 25,000 75,000
= 1,200,324 1,200,324 0
MDD B4 1,300,324 1,225,324 75,000
=2 100,000 25,000 75,000
= 1,200,324 1,200,324 0
HMSETA ZH(AR)(2D) 75,000 0 75,000
= 75,000 0 75,000
308 XXl £H A S 01 & 75,000 0 75,000
= 75,000 0 75,000
01 X SHB A2 TS 75,000 0 75,000
OXY BMDS B85 NV 75,000 0 75,000
= 75,000 0 75,000
MR HRHE NN (UNTTHE/ASHET) 472,700 517,700 A 45,000
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SN DSR2
HH: APYE HeHE MH(LUTIYY /LYY

Sl YOl HEAHA KB CEREY
SH B (BH) - NEMY - BES Ol & p[E=L HIRE2

Qo HEMNHA MBS 472,700 517,700 A 45,000

st HRdEd 28 =4 22,500 32,500 210,000

201 LEr24d | 10,000 15,000 A5,000

01 AtR 22l H 10,000 16,000 25,000

OUEBIE U YPLYIBIR AH3 0 5,000 A5,000

202 044l 2,500 7,500 25,000

01 =LH A HI 2,500 7,500 25,000

OBMZES =&0oH 2,500 7,500 25,000

SO Sy HFYSE =& =W 280,200 315,200 A 35,000

201 24l 270,000 300,000 230,000

01 At 22|l 270,000 300,000 A 30,000

OB S AL AtAdF=Z 117,800 147,800 230,000

202 O H 3,500 8,500 5,000

01 =LHA Bl 3,500 8,500 25,000

Oaxs+d AR 0l 1,500 3,500 A2,000

odzyE E AFHYAM BXXZA 04 1,500 3,500 A 2,000

OEANIAESs2 XA O8] 500 1,500 A 1,000

HE2IZH(RESYRD)(IIEH/IIEH 30,318 36,001 A5,683

JlE3&l 30,318 36,001 A5,683

fHAEE JI23H 30,318 36,001 A5,683

201 24| 22,500 24,903 N2,403

01 At 22l i 22,500 24,903 A 2,403

OFRNEZZ AR 22l 22,500 24,903 A 2,403

202 044l 4,218 7,498 3,280

01 =LA Hl 4,218 7,498 A 3,280

fA2E IO 4,218 7,498 A 3,280

H2es(sSHR) (WS /ISWUR) 233,868 0 233,868

RSP 233,868 0 233,868

0t ¥ =58 WERE gteE=s 233,868 0 233,868

802 gtet = J| Et 233,868 0 233,868

03 JIEtEtet= &S 233,868 0 233,868

O'20" MXEME = tstalst N 406 0 406

©'208 02 WA K& 137,677 0 137,677

O'208 = - 100 &AM nE KA 95,785 0 95,785
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